EARAROBREBRT —5 XN—ZXBISH—F 2021££108248 (H) 5SEI#RiE6H

UBTSHR3mE 1TSS EFHRFES BRI
[AXE%) 1 & :7,600,000  ~ 23&:3,000,000 "  337%:1,900,000 @ 4 3#&:1,100,000 5 & :380,000
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
N R . REMEE :10. - . . mHEE (R
1 ) | XAVaHmYDTE i3 zeh 1(1_0)2 2-2 36.2| 94.0 | 1 (4_862) i
RiIXAYIDR—F— B: XAV 3avqHF3o IREEHUS
b=~ e s 4 | SHEE 1:10.2 3-3 36.1]94.0 | 3 468 | KBEL (/)
2Pl 5 | 7S5V RRbO—-7 57.0 ) 6 | B I2ET1-Tr—L
RZANOVIUI—Y BPASYRET R BE B=
o - IGRASZ :10. - . . A+EBE (FR)
3| g3 v LEVEA (8] iR (7T A R I
RUSRROT BEVA)8%T ASARI Y b
= RHBE : - EEFET (EH)
4l5|7 | PFYIIFU— 4 5 i (11.110/.47) 10-10 |36.0| 89.3 | 8 zggs -l
RPURY ISR B:AO9«VIU—R FHAS
— <, f0 N AR :10. - . . RIFE (8
 : BELEPAYI R IR ) "y A Rl I B B Pt
RIJUTURN BAFFI IRy #HET7—L
3,57~ 8 4 | PR 1:10.7 8-9 3.3 89.2 | 4 456 | FIESEN @)
5 Wl 10 X7V 754.0 (%) © | KAJIMOTOR=ILT«YTR (
R:IARDT=IIF— B:OFAN—RYVT & HE
SRR 3 | RED 1:10.8 5-3 36.6| 88.1| 5 29 | N\FIIEE (EH)
7MY 9| TLAY=UYF 4530 a72) 4y | TIIEE
R:IAYVeAY B I-YUIVI—F SEHIS
W - 3 | EESR 1:10.8 3-3 36.7| 88.2 | 2 466 | BEKFEE (EH)
glgl14lNvE=7FY it 55.0 (FIv) (-4) KRB
RPAINTPHS— B:N\vE—FLFU— MEZ Y R
N Ficg et : - PIRERE (%)
97|11 YvIYNZ—1 [B] B4 L 1.(141).5 13-13 |36.3| 81.5 | 10 (4_722) e
RivVITVFARS B:T9—T75IL=h LE8S
s o J)\RfEE : - EPEE GEH)
1017|112l @Y T RESS (8] @5 | AH R e R =
R:AX—KIT7)VIY B:IFIUT EE e
< o= FR— 1. - ) . ClES I EST)]
1 4| @FATP VTSI~ 3| BR 1(711:;, -1 |36.7|81.5| 9 (1_1?(1)) i
RAVI A —F7—R—K B:7AF7VIUw/\— J0-U—T7—LA
S5 — ft 4 | MEAKE 1:12.3 13-14 [ 37.1| 74.2 | 14 | 470 |HEBR GER)
1215/ 8 | ®@>70—-U7 [B] 4520 © © |FAFYL=2K=2 @)
R:bwyIO0-—U— B:=57007« it JHBR
'~ — 4 5 | BHED 1:12.4 6-6 38.1| 74.6 | 13 444 | BEEED (FR)
1E 3 @NYA—ZE v 540 ) Gy | BoHEE
RPRIAVL—Y BIW—05F747 Pt ol
= tv 6 | WEHE 1:13.1 1-1 39.3]69.9 | 12 | 494 |AER GEH)
14111 @7047 [B] 701 250 @ o |EEte
Rifxe+y B:74)I-NvT BREMTY RS YT - T7—L
[ BN
Eh' 47.7-36.4

NOYS AL | 12.0-10.5-11.3-12.3-11.9-12.2

® I—J—@BIELL
1T=sr=
iaf==
30—F— |1,2(5,14)9(3,6)10,12,7(4,13) (8,11)
43—3— [1,2(514,9) (3,6,12)10,7(4,13)11,8

@ IRE
& B 2 270 | | DA R 2-5 280M3 | | # &= 2-4 520/ | | 3:=& 2-5-13 1,500/
& B 2 140M 2-13 610 | | &5 &= 2-5 500/9 | | & 2-5-13 5,490/
5 180M 5-13 760 | | 5 & 2-5 870
13 300M

ABIC OV TRUTEREERRODDZE. THRIIZEL.



